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General Knowledge of Chhattisgarh

Section Id : 14658717
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 14658717
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 146587401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The central plains of Chhattisgarh are known as the:
Options :

1465871601. * maize bowl of central India
1465871602. ¥ rice bowl of central India
1465871603. * wheat bowl of central India
1465871604. * guava bowl of central India

Question Number : 1 Question Id : 146587401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BARATG & HF HSMI (central plains) BT CRSIRIG
Options :

1465871601. % TLI YR bl Hah] BT HERI

1465871602. ¥ T YR BT 1A Dl HERT

1465871603. ¥ TL YR BT DI HERI



1465871604, ¥ A YR BT TRSC BT BRI

Question Number : 2 Question Id : 146587402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bailadila, having one of world’s best quality of iron ore deposits in the world, is located in the district.
Options :

1465871605. * Bijapur

1465871606. * Bastar

1465871607. ¥ Dantewada

1465871608. * Narayanpur

Question Number : 2 Question Id : 146587402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
o o Ry Semeian, g & Yoy Turaw ardl dig 3R] H | T 3T HSR 8|
Options :
1465871605. ¥ SITGR
1465871606. ¥ dXAR

1465871607. ¢ gdaral
1465871608. % TRIIUIYY

Question Number : 3 Question Id : 146587403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the followings Mela (fair) is held on the purnima (full moon) of the month of Magh to honour satis?
Options :

1465871609. # The Ramdevra Mela

1465871610. # The Twang Mela

1465871611. # The Vithiya Mela

1465871612. ¥ The Aathabisa Mela



Question Number : 3 Question Id : 146587403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeiad o § &9 91 Tar 4ra 7 S Yfofar &1 gt IE | Saiford faar S g2
Options :

1465871609. # ITHGART el

1465871610. ® RT Al

1465871611, * fafear Aan

1465871612, ¢ 33T Tl

Question Number : 4 Question Id : 146587404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The credit for bringing Mahatma Gandhi for his first visit to Chhattisgarh in the year 1920 goes to the well-known freedom fighter is:
Options :

1465871613. # Thakur Pyarelal Singh

1465871614. # Pt. Wamanrao Lakhe

1465871615. # Smt. Kekti Bai Baghel

1465871616. ¥ Pt. Sunder Lal Sharma

Question Number : 4 Question Id : 146587404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g 1920 ® HETAT Mieh B Ih! YUH STURATE IHT TR T BT 39 59 Ulig Tdadr I o1 fear Srar g2
Options :

1465871613, % BIPHR TR Rkig

1465871614, % T, IH-RIT R

1465871615. # U Bavdl ST U9

1465871616. ¢ U. Yexara !



Question Number : 5 Question Id : 146587405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Damakheda, situated 55km from Raipur on the Raipur-Bilaspur highway, is a major pilgrimage spot of the
Options :

1465871617. ¥ Kabir Panthis

1465871618. * Ravidas Panthis

1465871619. * Namdev Panthis

1465871620. * Maluk Das Panthis

Question Number : 5 Question Id : 146587405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IR- TR ISR R IR 55 km BT g1 R (YT SHRIST, &1 T ot R B

Options :

1465871617. ¢ HaR Uiyl
1465871618. % Ifdary dfygf
1465871619, % AHed Uil
1465871620. * Tl G Uil

Question Number : 6 Question Id : 146587406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the population of the scheduled tribes in Chhattisgarh, as per the census of 2011?
Options :

1465871621. ¥ 78.23 lakhs

1465871622. % 83.23 lakhs

1465871623. # 88.23 lakhs

1465871624, % 93.23 lakhs

Question Number : 6 Question Id : 146587406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

2011 1 SFTUMT b STAR, BTG H S SIeiiadl Bl ST fba g2
Options :

1465871621. ¥ 78.23 TR

1465871622 * 83.23 T

1465871623 * 88.23 T

1465871624 % 93.23 T

Question Number : 7 Question Id : 146587407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is the famous Maa Bambleshwari temple situated?
Options :

1465871625. * Durg

1465871626. * Raipur

1465871627. ¥ Rajnandgaon

1465871628. * Balod

Question Number : 7 Question Id : 146587407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR A TRt TR B<inTe & for fora o fRua g2
Options :

1465871625, ® gl

1465871626. % IR

1465871627. ¢ JSHIGId

1465871628. % qdlG

Question Number : 8 Question Id : 146587408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



With which musical instrument is the musician Reshma Pandit associated?
Options :

1465871629. # Sitar

1465871630. ¥ Tabla

1465871631. # Flute

1465871632. # Sarod

Question Number : 8 Question Id : 146587408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TritqeR M1 Ufed forg are 43 9 deftd g
Options :

1465871629. * RYAR

1465871630. ¥ dddl

1465871631, ¥ &G

1465871632, ¥ WIq

Question Number : 9 Question Id : 146587409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With which form of songs is the noted singer Arun Yadav associated?
Options :

1465871633. * Khuduwa

1465871634. * Pathoni

1465871635. * Sawnahi

1465871636. ¥ Faag

Question Number : 9 Question Id : 146587409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

URIG T 31301 dled oy 1fid Qeh @ defda 82

Options :



1465871633. ¥ Ggdl (Khuduwa)
1465871634. ® TYT (Pathoni)
1465871635. % TJ-Ta! (Sawnahi)
1465871636. ¥ BT (Faag)

Question Number : 10 Question Id : 146587410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which vegetable is used in Tumba craft of the Bastar region?
Options :

1465871637. ¥ Pumpkin

1465871638. # Jackfruit

1465871639. ¥ Gourd

1465871640. ¥ Radish

Question Number : 10 Question Id : 146587410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR &F & T FR1ed § o Teoft ST SUIANT 81T 82
Options :

1465871637. # dgq

1465871638. # dcgd

1465871639, ¥ T

1465871640. % Tl

Question Number : 11 Question Id : 146587411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the federal structure of India, who is the owner of minerals located within the boundary of a state?
Options :

1465871641. # Central Government



1465871642. ¥ State Government
1465871643. * Mineral Resource Department
1465871644. * Ministry of Environment

Question Number : 11 Question Id : 146587411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HRA &) Gt I 7, foodft g ot S & siavia fRud @fAei o1 Tt @ifere) S gidr 82
Options :

1465871641, ¥ &g IRBR

1465871642, ¢ I DR

1465871643, % WS AT faH{TT

1465871644, % TGTaRU] HATT

Question Number : 12 Question Id : 146587412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is the state in India to provide legal rights for the skill development to youth by making skill up-gradation schemes.
Options :

1465871645. ¥ first

1465871646. * second

1465871647. % third

1465871648. * fourth

Question Number : 12 Question Id : 146587412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STATG, HIRTA AT AT (skill up-gradation schemes) TR T3 B DIRTS [AHTT BT HIAT SIBR UG HRA aTel HRA BT
T g

Options :

1465871645. ¥ Ugdl




1465871646, ¥ TERT
1465871647, % AR
1465871648, % AT

Question Number : 13 Question Id : 146587413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Lok Adalat is presided over by a/the:
Options :

1465871649. ¥ Retired judge

1465871650. # District Magistrate
1465871651. # Chief Justice of High Court
1465871652. ¥ Chief Judicial Magistrate

Question Number : 13 Question Id : 146587413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TN SHGTAd DI e IRAGI
Options :

1465871649, ¥ JdTHT AT
1465871650. # fSra AfoRee

1465871651, % I T o T <UTATHRI
1465871652, ¥ T A% HfSReC

Question Number : 14 Question Id : 146587414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The proposal for appointment of the judge of a High Court shall be initiated by the
Options :

1465871653. # Governor of a state

1465871654. ¥ Chief Justice of the High Court



1465871655. % Chief Minister
1465871656. # Chief Justice of Supreme Court

Question Number : 14 Question Id : 146587414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fobaft S= =maTery & =iy @ Fgfad &1 uRdra R o e |
Options :

1465871653, % T o IogUTd

1465871654, ¥ 3= T o T-H TTATHRI

1465871655. % AT

1465871656. ¥ J=dqH <UIATY & T RATHIRT

Question Number : 15 Question Id : 146587415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Changbhakhar-Devgarh Hills are present in the districts of Chhattisgarh.
Options :

1465871657. ¥ Koriya and Surguja

1465871658. # Korba and Raigarh

1465871659. # Kawardha and Bilaspur

1465871660. # Bijapur and Sukma

Question Number : 15 Question Id : 146587415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TNTHER-GITE UgISHl, Be & oren & R g
Options :

1465871657. ¢ HIRAT 3R TSI

1465871658, ¥ DHRET 3R ITTG

1465871659, ® Hayl 3R fTaqR




1465871660. # TSGR 3R JHHT

Question Number : 16 Question Id : 146587416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which river among the following is called the "Life Line of Chhattisgarh" that has helped in the growth of agriculture?
Options :

1465871661. * Narmada

1465871662. ¥ Mahanadi

1465871663. * Indravati

1465871664. * Godavari

Question Number : 16 Question Id : 146587416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafaRed & J fd et &1 ST 1 siiad @1 &8 S1dl §, o Y faswm & 7eg &t 87
Options :

1465871661, ® THaT

1465871662, ¢ HgHa!

1465871663, % Sardadl

1465871664, % Taras

Question Number : 17 Question Id : 146587417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the district of Chhattisgarh that has the Lowest forest coverage as of 2013.
Options :

1465871665. * Sukma

1465871666. * Korba

1465871667. * Kanker

1465871668. ¥ Janjgir-Champa



Question Number : 17 Question Id : 146587417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & 39 fordt &7 17 Fa1zT, ForgH 2013 T W TSGR & IR ol &1 99 8 5 |
Options :

1465871665. ¥ FhHT

1465871666. # DHRET

1465871667. ® WHiB

1465871668. ¢ SISHIR-<UT

Question Number : 18 Question Id : 146587418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tarapur rebellion is a revolt in which the common people of Bastar stood against the:
Options :

1465871669. * Zamindars

1465871670. * Marathas

1465871671. ¥ Foreign rulers

1465871672. * Diwans

Question Number : 18 Question Id : 146587418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ARIGR fasie T U fasig & fores axar & o i & faas @S gual
Options :

1465871669. # SHIFER

1465871670. % TRTST

1465871671, ¢ faGN TS

1465871672. % &raM



Question Number : 19 Question Id : 146587419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following was the first dam in Asia to have Siphon Spillways?
Options :

1465871673. * Khudia dam

1465871674. ¥ Murrum Silli dam

1465871675. * Hasdeo Bango dam

1465871676. * Gangrel dam

Question Number : 19 Question Id : 146587419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fRafafad & T &9 91 TREAT &1 g I fydas 91y g2

Options :

1465871673. % QST &Y
1465871674, ¢ AR 1Y
1465871675. % ggad qiTl &Y
1465871676. % TRA &Y

Question Number : 20 Question Id : 146587420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where are Jogimara caves located in Chhattisgarh?
Options :

1465871677. ¥ Sarguja

1465871678. # Jashpur

1465871679. # Bilaspur

1465871680. ¥ Dantewada

Question Number : 20 Question Id : 146587420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
I H STIHRT ThTE waf fRUd 82
Options :

1465871677. ¥ JJ]SI

1465871678. * SR

1465871679. % faeiqR
1465871680, ¥ Edaral

Question Number : 21 Question Id : 146587421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most famous dance-drama of the Chhattisgarh is , which is a musical narration of the great Hindu epic Mahabharata.
Options :

1465871681. * Raut Nacha

1465871682. * Gendi

1465871683. ¥ Pandavani

1465871684. * Panthi

Question Number : 21 Question Id : 146587421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG BT I URIG TI-ATCH 8, ol He fig AgTohIed HeTHRd &1 Ue Siiiaey quiH g
Options :

1465871681, % I3d ATd

1465871682, % T8t

1465871683. ¢ G

1465871684, % T

Question Number : 22 Question Id : 146587422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following corporations do NOT exist under the Government of Chhattisgarh as on year 2020?
Options :

1465871685. # Forest Development Corporation

1465871686. ¥ Tribal Development Corporation

1465871687. # Seed and Agriculture Development Corporation

1465871688. # Industrial Development Corporation

Question Number : 22 Question Id : 146587422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

¥ 2020 & FRgfeRad & A B 1 FATH/BTIRYA SITE WREHR & 3¢l T} 311aT 82
Options :

1465871685. % g famg A7 (Forest Development Corporation)

1465871686. ¢ 3ffqard fdbrd fTH (Tribal Development Corporation)

1465871687. # &S 3R m faerg fArmm (Seed and Agriculture Development Corporation)
1465871688, # 3N gy fAm (Industrial Development Corporation)

Question Number : 23 Question Id : 146587423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per Directorate Agriculture, Chhattisgarh the net irrigated area of the state is nearly of its net sown area.
Options :

1465871689. # 21%

1465871690. ¥ 32%

1465871691. # 45%

1465871692. # 63%

Question Number : 23 Question Id : 146587423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT BN, TG &b TR Aot BT Y Rifd & 395 Tg ST 7T & BT TTHT 2l

Options :



1465871689. # 21%
1465871690. ¥ 32%
1465871691. # 45%
1465871692. * 63%

Question Number : 24 Question Id : 146587424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Total number districts in Chhattisgarh as on 2020, is
Options :

1465871693. * 18

1465871694. * 9

1465871695. ¥ 28

1465871696. * 16

Question Number : 24 Question Id : 146587424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2020 A% Pt fRUFY F IR, BTG H fo1elt o1 T=m oa fpat g2
Options :

1465871693. * 18

1465871694. % 9

1465871695. ¥ 28

1465871696. # 16

Question Number : 25 Question Id : 146587425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the rank of Chhattisgarh in coal production in India according provisional statistics of 2020-21 of the coal ministry?
Options :

1465871697. ¥ First



1465871698. * Second
1465871699. # Third
1465871700. * Fourth

Question Number : 25 Question Id : 146587425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DA HATTT P 2020-21 & FHIAH MBS & STAR YR T DI IdTe H SURATG BT RIH FT g2
Options :

1465871697. ¥ UYH

1465871698. % GIRI

1465871699, % TIRRT

1465871700. % T

Computer Knowledge
Section Id : 14658718
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 14658718
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 146587426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Some laptops have DVI ports. What does DVI stand for?



Options :

1465871701. ¥ Digital Visual Interface
1465871702. # Digital Virtual Interface
1465871703. ¥ Data Virtual Interface
1465871704. * Digital Visual Integration

Question Number : 26 Question Id : 146587426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
%S AUl # DVI U §id & | DVI (S1.d1.3113.) &1 Juf =0 F1 82
Options :

o o\

1465871701. ¥ Digital Visual Interface (SIS Ira\{li’:‘l?f i;CQDO{-I)

1465871702. ¥ Digital Virtual Interface (f&fofed a%je«m EUs)]

1465871703. % Data Virtual Interface (SCI GY3Id SEHY)
1465871704. # Digital Visual Integration ( Sfoled ﬁﬂ\’ﬂﬁ g anq)

Question Number : 27 Question Id : 146587427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following keys is only one on a laptop/personal computer keyboard?
Options :

1465871705. ¥ Tab

1465871706. % Alt

1465871707. ¥ Ctrl

1465871708. # Shift

Question Number : 27 Question Id : 146587427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IeT/I T H R Blate WR FHfaRad & J &1F Tt Hoil (H) Had T gt aldil 82

Options :




1465871705. ¥ Tab
1465871706. * Alt
1465871707. * Ctrl
1465871708. * Shift

Question Number : 28 Question Id : 146587428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(1) LED devices are emissive display devices.
(i1) Emissive display devices can convert electrical energy into light.

Options :

1465871709. # Only (i)
1465871710. # Only (ii)
1465871711. % Both (i) and (ii)
1465871712. # Neither (i) nor (ii)

Question Number : 28 Question Id : 146587428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafifed 3 9 o9 Y Sy a8

() T3 2. (LED) fearsy, thiRie feww fearsa gid &1
(i) TRy fevat fEarzy, faggd 3ol &1y o uRkafdd &R I@d g

Options :

1465871709. % odd (i)
1465871710, % Hdd (ii)
1465871711, ¢ (i) 3R (ii)
1465871712, % 94l (i) A &l (ii)

Question Number : 29 Question Id : 146587429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE?

Options :

1465871713. # Cache memory is usually small in size in comparison to main memory.
1465871714. # Cache memory is faster than main memory.

1465871715. # Cache memory is more expensive than main memory.

1465871716. ¥ Cache memory is used to store data permanently.

Question Number : 29 Question Id : 146587429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e o ¥ 19 I HuT 3 22

Options :

1465871713, % HRI AR, QI T THART B g1 H STHR (size) H BIcT gl g
1465871714, % HRIAARY, T HART § ool gieht & |

1465871715, % =1 AARY, T BT 1 ga H 31fdre gl gt g

1465871716, ¢ B2 AHR] BT IUTNT ST B! VI TY J TR B & [T fHar Sar g |

Question Number : 30 Question Id : 146587430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The CPU directly reads/writes data from/into:
Options :

1465871717. ¥ Main memory

1465871718. # Hard disk

1465871719. # Secondary memory
1465871720. # Tertiary memory

Question Number : 30 Question Id : 146587430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



CPU, Ttd /A ST HSRZE HRAT
Options :

1465871717. ¢ B HHRY (Main memory)
1465871718, # TS fS%P (Hard disk)

1465871719, % fgaidd AART (Secondary memory)
1465871720. ¥ e HHRY (Tertiary memory)

Question Number : 31 Question Id : 146587431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) Magnetic tapes are sequential accessed.
(i1) The hard disk is also called secondary memory.

Options :

1465871721. ¥ (i) - TRUE; (ii) - TRUE
1465871722. # (i) - TRUE; (ii) - FALSE
1465871723. # (i) - FALSE; (ii) - TRUE
1465871724. % (i) - FALSE; (ii) - FALSE

Question Number : 31 Question Id : 146587431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFofefead & ¥ oF 91 fdeey = AU T Su=1 3t Iaar &1 Jafad qui- &R g2

(1) Mifew 2y (Magnetic tape), WW AT (sequential accessed) ek
(i) 8T8 5% ol Y AR a1 ST g

Options :

1465871721. ¥ (i) - ¥d; (i) — I

1465871722. % (i) - I; (i) — A

1465871723, % (i) - 3, (ii) - A

1465871724. % (i) - 31T; (ii) - A



Question Number : 32 Question Id : 146587432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The VB.NET language was designed for

Options :

1465871725. ¥ web-services and web development
1465871726. # system programming

1465871727. # embedded application

1465871728. # data application

Question Number : 32 Question Id : 146587432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

VB.NET HTHT (<f7aw), & forg f&ome= &1 718 ot

Options :

1465871725. ¢ J9-Ta13{} 3R 3¢ SIAUHC
1465871726. % R&eq UM
1465871727, # TS S TRIH YA

1465871728, # STl TIHIH

Question Number : 33 Question Id : 146587433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) PROLOG | i) Client-side scripting language

b) JavaScript | ii) Language for research in artificial intelligence

c) ASPNET 111) JavaScript library for building user interfaces

d) React 1v) Web development platform provided by Microsoft

Options :

1465871729. ¥ a—ii; b—1i; ¢ —iv; d —iii
1465871730. ®* a—1i; b—ii; ¢ —iv; d —iii
1465871731. ®# a—ii;b—iii; c—iv;d—1i
1465871732. % a—ii;b—i;c—iii;d—iv

Question Number : 33 Question Id : 146587433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ﬁmﬁaﬂmaﬁ'}h;ﬁ'%@mﬁwﬁﬁ@mﬁﬂ?wgwT&qw-;a:rﬂuﬁ F{

a) PROLOG ) FoTSc-ATEE TEFE T (of7a)
b) STanfEsFee (JavaScript) | ii) EfFRTer $eeia & wqau= & T s (efvas)

c) ASP.NET iii) ToR $eTHT T F [T FAariiFee TS

d) Ruee (React) iv) ATSHIETFE SaRT YaId fhaT 9137 39 39998 SolehiA

Options :

1465871729. ¥ a—ii; b—1; ¢ —iv; d —iii
1465871730. ®* a—i;b—ii; ¢ —iv; d —iii
1465871731. # a—ii; b—iii; ¢ —iv; d —1i



1465871732. ¥ a—ii;b—1i;c—iii;d—iv

Question Number : 34 Question Id : 146587434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Java is language.

Options :

1465871733. ¥ an object-oriented programming
1465871734, # a scripting

1465871735. # a second-generation programming
1465871736. # an assembly

Question Number : 34 Question Id : 146587434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SEL e (ae) gl

Options :

1465871733, ¢ 3fiesiae IRUCS THRMHT
1465871734, % RpPT

1465871735. % R UIGT T TUTET
1465871736. % 3rdqa

Question Number : 35 Question Id : 146587435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Read the following statements carefully and select the most appropriate option with regards to the truthfulness of each statement.

a) COBOL, PASCAL and BASIC are third generation languages.
b) Third generation languages are machine dependent.

Options :
1465871737. ¥ a) - TRUE; b) - FALSE
1465871738. # a) - FALSE; b) - FALSE



1465871739. % a) - FALSE; b) - TRUE
1465871740. % a) - TRUE; b) - TRUE

Question Number : 35 Question Id : 146587435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafaRed Hy=l &1 eFYd® Ufeu SR Ud® &Y & Iddl & Jeu H Faifie Iugad fadhed &1 aa4 He |

a) COBOL, PASCAL 3R BASIC 1<} Ui} &6} HIuTg (cfiaoh) & |
b)mmaﬁwmwm(machine dependent)%l
Options :

1465871737. ¢ a) - T b) - AT

1465871738. # a) - 3, b) - TY

1465871739. # a) - 3, b) - I

1465871740. # a) - T; b) - T

Question Number : 36 Question Id : 146587436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) WML | 1) A computer language that is used to interact with and manage a database

b) SQL i1) Handheld devices markup languages

c) DB2 iii) Combination of JavaScript and XML

d) Ajax iv) A database server developed by IBM

Options :

1465871741. ¥ a—ii; b—1; c —iv; d —iii
1465871742. ®* a—1i;b—1ii; ¢ —iv; d —iii
1465871743. ®* a—ii;b—iii;c—iv;d —1



1465871744. ®* a—ii;b—1iv;c—1i;d —1ii

Question Number : 36 Question Id : 146587436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FioAr &1 fFemer w¢ 3R A G v Reest & ¥ gafas s9gea Rees &1 799+ =<

a) WML i) 98 FYeT AT THTWHT ITART ]WHT F TTY FFE
F 3T gaud F & orw gar @

b) SQL i) d5ges fR2a=yH AT dWT (JA7E=)

c) DB2 iii) SraTfEse 3 TFETATA. (XML) FT 3=

d) 3=FE (Ajax) |iv) IBM g&@RT fSefag ey a@=w

Options :

1465871741. % a—ii; b—i; ¢ —iv; d —iii
1465871742. # a—1i;b—ii; c—iv; d —iii
1465871743. % a—ii;b—iii; c—iv;d—1i
1465871744. # a—ii; b—iv;c—1i;d—iii

Question Number : 37 Question Id : 146587437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is the web browser engine used by the Safari Browser.
Options :
1465871745, ¥ WebKit
1465871746. * Gecko



1465871747. * Trident
1465871748. * Presto

Question Number : 37 Question Id : 146587437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BRI ST3OR (Safari Browser) §RT SUINT {1 S a1 49 STSOR S0 6|
Options :

1465871745. ¥ ddfdhe (WebKit)

1465871746. % TP (Gecko)

1465871747. % IS (Trident)

1465871748. % TUCT (Presto)

Question Number : 38 Question Id : 146587438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is a layout and rendering engine used by the Internet Explorer to handle HTML, CSS, and other markup parsing.
Options :
1465871749. % WebKit
1465871750. * Gecko
1465871751. ¥ Trident
1465871752. % Presto

Question Number : 38 Question Id : 146587438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; ,HTML, CSS 3IR 3= AT 30 TR &l 88 B P OIE Sexic TRITRR gRT SUANT {501 S aTell U A313e 3R ISR goi
|

Options :
1465871749. # ddfde (WebKit)
1465871750. ® B! (Gecko)




1465871751, ¥ TISSC (Trident)
1465871752. # TURCT (Presto)

Question Number : 39 Question Id : 146587439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an academic search engine?
Options :

1465871753. # Google Scholar

1465871754. # BASE

1465871755. ®# Google Books

1465871756. ¥ Science.in

Question Number : 39 Question Id : 146587439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafea & 3 oF 1 Afée g ol (academic search engine) ol 87
Options :

1465871753, % T[T WhIeR (Google Scholar)

1465871754, % o (BASE)

1465871755. % [Tl &R (Google Books)

1465871756. ¥ T19Y.3 (Science.in)

Question Number : 40 Question Id : 146587440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is the unique name that identifies a wireless network.
Options :
1465871757. ¥ Service Set Identifier (SSID)
1465871758. # Mobile Station Identifier (MSID)
1465871759. # Network Station Identifier (NSID)



1465871760. # Service Entity Identifier (SEID)

Question Number : 40 Question Id : 146587440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

, g 91 B, ST arReN Jedd &) UgdT Rl g
Options :
1465871757, ¢ FfaY Yc S SCHRR (SSID)
1465871758. % HIdIZd WY 3 CHRR (MSID)
1465871759, % Heddh WM 3MFSCHRR (NSID)

1465871760. # JfdY U} MSSEBRR (SEID)

Question Number : 41 Question Id : 146587441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In communications network, a/an is an unguided media.
Options :

1465871761. # twisted pair

1465871762. ¥ terrestrial Microwave

1465871763. # fiber optic

1465871764. # copper wire

Question Number : 41 Question Id : 146587441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TORAcad H, ARG (3rmses) Hifsar gl

Options :
1465871761, ¥ fg%¢ 8 USR (twisted pair)
1465871762, ¥ E\QR\;\Q«IQ‘I 4-||sq>\|c\1q (terrestrial Microwave)

1465871763. ® WIZeR VP (fiber optic)
1465871764, % HIWR dRR (copper wire)




Question Number : 42 Question Id : 146587442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A DHCEP server can provide allocation of address.
Options :

1465871765. ¥ dynamic; IP

1465871766. * static; IP

1465871767. * dynamic; MAC

1465871768. * static, MAC

Question Number : 42 Question Id : 146587442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DHCP IR TS FI 3{TdeH UaH &R &l g
Options :

1465871765. ¢ 1P; SITATH®

1465871766. # Ip; ek

1465871767. % MAC; SN

1465871768. ® MAC; ¥}efcdh

Question Number : 43 Question Id : 146587443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Windows Operating system, where the deleted files or folders are stored?
Options :

1465871769. ¥ Recycle bin

1465871770. *¥ Desktop

1465871771. # Floppy

1465871772. # CD Drive

Question Number : 43 Question Id : 146587443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

fFSie SR Riew H, f3efic fhu 71U wisd a1 Bicek Hel ©R 8l 82
Options :

1465871769, ¢ RO d fa=

1465871770. % SXHCIY

1465871771, % T4

1465871772. * CD gIgd

Question Number : 44 Question Id : 146587444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
To create a desktop shortcut for a file or folder, select the appropriate option that comes in place of the question mark (?) in the following steps.

Navigate to the file or folder on your computer - > ? -> A menu will appear. Skim down the menu that appears -> left click the Send To item on
the list -> Left click the Desktop (create shortcut) item on the list -> Close or minimize all open windows

Options :

1465871773. ¥ Right click the file or folder
1465871774. % Left click the file or folder
1465871775. * Double click on file or folder
1465871776. * Select file or folder

Question Number : 44 Question Id : 146587444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

for<ll THTSd T hicex g Sheld Yiche [ohUe HR- o (A JUYdd HHTRad axul H UHTRg (7) & I W 3 a7 fadhed &1 99
|

3T B W BIgd I Bles bl AdNIC B -> 2 -> b B faRaT | fGwH a1el i Dl [hH S DY -> foe o ¥T ¢ 3MgeH W AU
faeren X -> foe & Swweiy (fohte Wiche) 3HT5eH IR AU faad B -> Ja gt Gt [dSe &1 s a1 fifass &3 |




Options :

1465871773. ¢ H13d U1 hicax UR I3 [aad B
1465871774. % I3 I1 hhieax IR AU fadd &
1465871775. * I3 Il hlca UR S [Gdd B
1465871776, % HI3d T Bleex HI Jdlac H

Question Number : 45 Question Id : 146587445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following Windows applications allows you to edit text files?
Options :

1465871777. * Internet explorer

1465871778. #* Windows Explorer

1465871779. ¥ Notepad

1465871780. # Files and settings Transfer Wizard

Question Number : 45 Question Id : 146587445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 & ©F 1 {4SIe TRiIhE 3] TRe WIgey ! TS B & Jaer a1 82
Options :

1465871777, % ST TRWIRY

1465871778. % fdSIT TRWIRR

1465871779. ¢ U

1465871780. % e 3R AT <IHR faoms

Question Number : 46 Question Id : 146587446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following windows is NOT released by Microsoft?
Options :



1465871781. * Windows XP
1465871782. * Windows 8
1465871783. ¥ Windows 9
1465871784. * Windows 10

Question Number : 46 Question Id : 146587446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fofafed @ 3 oF w1 fdSis aseate gRT AR el o a1 62
Options :

1465871781. * Windows XP

1465871782. * Windows 8

1465871783, ¥ Windows 9

1465871784. * Windows 10

Question Number : 47 Question Id : 146587447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, to increase left indentation, click anywhere on the paragraph you want to indent and simply press the keys.
Options :

1465871785. * Alt+M

1465871786. * Ctrl + L

1465871787. * Ctrl +1

1465871788. ¢ Ctrl + M

Question Number : 47 Question Id : 146587447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H, 0T §8 XM F¢ & fo1T, 310 forg TG &) SS¢ 1 I18d & 39 IR Pal Hi faetes &Y 3R BVl Bl gaTd|
Options :

1465871785. #* Alt+M

1465871786. # Ctrl + L



1465871787. % Ctrl +1
1465871788. ¥ Ctrl + M

Question Number : 48 Question Id : 146587448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In newer versions of MS-Excel 2016, the column labels ranges from to

Options :

1465871789. # A; XXX
1465871790. * A; WFD
1465871791. # A; XXD
1465871792. ¥ A; XFD

Question Number : 48 Question Id : 146587448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2016 o dIdH TEHIUT H, HIcTH dded bI ol | & Bl g
Options :

1465871789. # A; XXX

1465871790. ¥ A; WFD

1465871791. ¥ A; XXD

1465871792. ¥ A; XFD

Question Number : 49 Question Id : 146587449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the TRUE/ FALSE from the following statements.

a) You can go to the last row of an Excel sheet by clicking Ctrl + Down arrow key.
b) You can go to the last column of an Excel sheet by clicking Ctrl + Right arrow key.

Options :
1465871793. ¥ (a) — True; (b) - True



1465871794. % (a) — TRUE; (b) - FALSE
1465871795. % (a) — FALSE; (b) - TRUE
1465871796. # (a) — FALSE; (b) - FALSE

Question Number : 49 Question Id : 146587449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ffRad Syt & I TATed 3t ugaH S|

a) Ctrl + Down arrowﬁ-ﬁﬁéﬂﬁaﬁrwwm\’rﬂqucel‘\’ﬂEﬁG‘ﬁqﬁWWW%I
b) Ctrl + Right arrow PI-IS Yche DT ITIN] B 3T Excel e & 3ifaq dwiad & o Gobd %I

Options :

1465871793. ¢ (a) — al; (b) - Tal
1465871794, % (a) — sl (b) - Ted
1465871795. % (a) — TTdd; (b) - Tal
1465871796. ¥ (a) — TCd; (b) - TTdd

Question Number : 50 Question Id : 146587450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
=DATE(98, 1, 35) returns:

Options :

1465871797. * January 1, 1998
1465871798. ¥ February 4, 1998
1465871799. # January 4, 1998
1465871800. * February 1, 1998

Question Number : 50 Question Id : 146587450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
~DATE(98, 1, 35) fe w82
Options :



1465871797. % January 1, 1998
1465871798. ¥ February 4, 1998
1465871799. # January 4, 1998
1465871800. * February 1, 1998



